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Section : Electrician Trade Related

Q.1 ol fFft oAl (SermAR) A wica fr e A gig frsmdig,at
Ans o 1. ST SIIROL (SR E) eryaT SR gt STt &

< 2. SHRHICR &I THR BieT &1 ST e

7 3. 558 AfquRoT (3NaRenfem) emar § st gidt &

< 4. SEG AR & AR A R B &

Question ID
Status

Chosen Option :
Marks :

: 650548129
: Answered
4

-0.25




Q.2 gEa:, affaR dhefluR &1 SeuaHieh ______ glar gl
Ans # 1.0.1cm

K 2.1cm
£< 3.0.001 cm
25 4.0.01cm
Question ID : 650548109
Status : Answered
Chosen Option: 3
Marks : -0.25
Q.3 R THE_____ 3
Ans X 1. TITST gare
X 2. agearsh uery
o 3. TS ueref
X 4. wegash e
Question ID : 650548144
Status : Answered
Chosen Option : 3
Marks : 1
Q.4 The role of carbon brushes in an electric motor is:
Ans X 1.to protect the motor from burning out due to overheating
#< 2.to clean the rotating part of the motor
25 3. to provide resistance in circuit
«# 4.1o avoid sparking in the motor
Question ID : 650548125
Status : Not Answered
Chosen Option : --
Marks : 0
Q.5 Sgrfi efifae, giamiR A fgdias Gacft & ToteE @ T sar 81
Ans X 1. =R
X 2. 3=
o 3. T
< 4.HIR
Question ID : 650548133
Status : Answered
Chosen Option : 3
Marks : 1




@8 S ude Fm @iET 2

Ans X 1. gRadl gfa”iy

o 2. Roaardt
X 3. WRepea
< 4. uferty
Question ID : 650548150
Status : Answered
Chosen Option : 1
Marks : -0.25
—_
Q.7 ek TERUT AT (STAMARMA F18) & 39T thiS (R BIR) T TahT & forg faran wTman g1
Ans X 1. 139 & URehcd Pl HH e
o 2. 1S ol FoTed B g
25 3. AT FI ANTT hT RH FA
X 4. 15 & IR F gfg e
Question ID : 650548141
Status : Answered
Chosen Option : 1
Marks : -0.25
e
Q.8 i R Iuemoni sl ________ aifie o srem &, e 399ah efifael ur 9= ateest ure
gt g
Ans o 1. GHIRHAH
X 2. Sofiem &
X 3. Rremea g
< 4.9 g de (back to back)
Question ID : 650548155
Status : Answered
Chosen Option : 1
Marks : 1
= =
Q.9 Which of the following quantity unit is NOT Volt?
Ans X 1. Electromotive force
#5.2. Electric potential
%# 3. Magneto motive force
X 4. Potential difference
Question ID : 650548115
Status : Answered
Chosen Option: 3

Marks :

1




Ans

Q.10 Which of the following part of DC Machine can sustain maximum temperature rise?

+" 1. Field winding
5 2. Commutator

25 3. Armature winding
25 4.Slip ring

Question ID : 650548127
Status : Answered
Chosen Option : 3
Marks : -0.25

Ans

Q.11 Tk Yehel ohedT URUT UehR St tATdT (FERTT Ghot 5o 2184 UeTSiT HieR) uradienl () &t
_ dAusfRfawzargd

X 1.VA
X 2. VAR

o 3. kWh
X 4. kw

Question ID : 650548104
Status : Answered
Chosen Option: 3
Marks : 1

Ans

Q.12 Which of the following tools is used to pull wire through conduit?

25 1. Screwdriver
#< 2. Chisel

< 3. Torpedo
" 4. Fish tape

Question ID : 650548108
Status : Answered
Chosen Option : 3
Marks : -0.25

Ans

uTfies et 7 91 i Heam (N4) & o "aiy ghm?
X1 N2=0
o 2. Na= Ny
X8 N2=MN;
X4 Np< Ny

Q.13 afg gRurT SrguTe (transformation ratio) K >1 &, af fg<ftaes daeft & el il wizem (N,) iR

Question ID : 650548131
Status : Answered
Chosen Option : 2
Marks : 1




Q.14 Which of the following is NOT a switch?

ans —
o2 f
o—

?('3.4"/*

Question ID : 650548152
Status : Answered
Chosen Option : 1
Marks: 1
_
Q.15 =9 @ frg UerR Y araf¥ @1 Sugh i SEew & fore =1 forar sirar 22
Ans X 1.PVC
2 2.CTS/TRS
X 3. arfaes
o 4. Fic
Question ID : 650548148
Status : Answered
Chosen Option : 4
Marks : 1
Q.16 =HTaHTRAI HR&M & SITHR 1 T HIS T SR ehzat 87
Ans X 1. JcH IS @RI TE
#< 2. a1 Iuhu
5 3. urufies Rfhe Iuazor
o 4. ST RaT IuehT
Question ID : 650548111
Status : Answered
Chosen Option : 4
Marks : 1
Q.17 1kWh 3wif =g & IR giar &l
Ans. X 1.103Fe
252,100 gfe
7< 3.1000 gfe
o 417
Question ID : 650548105
Status : Answered

Chosen Option :
Marks :

4
1




Q.18 A H&T & g yEuh uTsy o1 = v glar 87
Ans X 1.2%9

X 2159
o 31553
X 4.25%9

Question ID : 650548135
Status : Answered
Chosen Option: 3
Marks : 1

Q.19 af ek Gebet st ulRonfA= (Rivrer ot giawriaR) i guf 1R ara g1ifai 1000 W ik wig g
1200 W &, dt 50% ¥R UR 39hY ard g1 o gifi?

Ans o 1.250W
2 2.1200W
< 3.300W
2< 4.1000 W

Question ID : 650548132
Status : Answered
Chosen Option : 1
Marks : 1

Q.20 Qe &Y a1$s f{E umT 513+ (lap wound DC generator) & 8 g[a(poles) 3z 240
areteh(conductors) &1 TR gAY &Y Tzar = gifi?

Ans 1.8
< 2.3

2 3.30
2 4.240

Question ID : 650548128
Status : Answered
Chosen Option: 3
Marks : -0.25




Q.21 fu 7 faereal & & i a1 AT 1 uefter 82

Ans \‘—?
N i___
x 2 B/ |
" 3. @—
Koo
Question ID : 650548151
Status : Answered
Chosen Option : 3
Marks : 1
_
Q.22 Which of the following is the symbol of a battery?
Ans
TF
*
2 ]
*
x 4. L
e e
—
Question ID : 650548153
Status : Answered
Chosen Option: 2

Marks :

1




Q.23 The voltage across a cell on open circuit conditions is 2.2 V and the voltage across the cell
when a 0.4 A current flows to circuit is 1.8 V. The internal resistance of the cell is:

Ans X 1.2.0ohm

& 2.1 0ohm
< 3.0.50hm
25 4.1.50hm
Question ID : 650548120
Status : Answered
Chosen Option : 2
Marks : 1
Q.24 In which of the following application we use DC series motor?
Ans X 1.Lathe machine
< 2. Air blower
" 3. Locomotive
5 4. Centrifugal pump
Question ID : 650548123
Status : Answered
Chosen Option : 3
Marks : 1
Q.25 Which of the following tools is used to put in cross-head screws?
Ans  # 1. Phillips-head screwdriver
£ 2. Architect ruler
#5 3. Ball peen hammer
< 4. Flat head screwdriver
Question ID : 650548107
Status : Answered
Chosen Option : 1
Marks : 1
—
Q.26 BIS & R fRistelt & srguat & fog Syl forg o a1t @ afthe w s ¥ aifdes 7
g afeg
Ans X 1.500 kW
o 2.3 kW
5 32 kW
2$.4.700 kW
Question ID : 650548149
Status : Answered
Chosen Option : 2
Marks : 1




Ans

Q.27 A rectifier is a device which used to convert:

#< 1. unidirectional current to alternating current
25 2. low frequency to high frequency
« 3. alternating current to unidirectional current

< 4. power to frequency

Question ID : 650548145
Status : Answered
Chosen Option : 3
Marks : 1

Ans

Q.28 fEeRT Hlex (DC Motor) # g[di (poles) M T=T______ gl g1

o 1. 919 & ST
X 2. 91 & STRATIUTT

#< 3. I & SRR
X 4.9 T ifde

Question ID : 650548124
Status : Answered
Chosen Option : 1
Marks : 1

Ans

Q.29 =1 # & fhw Aiex &Y gof ZiwiER (rotating transformer) +ft whgT STTaT 872

X 1. Fuss Al

o 2. IRUT AR

X 3. feeamr (DC) ioft Aex
X 4. feEemT (DC) e #iex

Question ID : 650548126
Status : Answered
Chosen Option : 2
Marks : 1

Ans

Q.30 =R_i # Y S areft arafe i grem & Ag ____ w1 Iui forar smar @1

& 1.MCB
< 2.vCB
< 3.0CB
< 4,SF6 CB

Question ID : 650548110
Status : Answered
Chosen Option: 1
Marks : 1




Q.31 af uere F gererafierar = g, at smfer d siffrarg uw (flux path) wTufaes ___ ghmi
Ans o 1.3

X 2. =

5 3.

5 4. qem

Question ID : 650548122
Status : Answered
Chosen Option : 1
Marks : 1

Q.32 g1l &t v A & foig, iawiR & whie (core) @ uefad (laminated) favaT SiTaT 1
Ans ¢ 1. ¥R g7 (eddy current)

£ 2. a4 (copper)
25 3. 7o (frictional)
< 4. AT (hysteresis)

Question ID : 650548130
Status : Answered
Chosen Option : 1
Marks : 1

E

Q.33 If 50 ohm and 60 ohm are connected in a series across a 100V supply, then the range of the
ammeter used is:

Ans o 1.0-2A
< 2.0-10A
2 3.0-30A
2 4.0-5A

Question ID : 650548106
Status : Answered
Chosen Option : 1
Marks : 1

Q.34 &RoT URT (Leakage current) ATHT R & TSI Y-HUh R 9 g atfed gl &, Fifeh o-
Hueh dR 1/ gagi g1

Ans X 1. ufeRtY Sgd il
o 2. UIRIY Jgel, e
X 3femgagd sifde
2504, g g A

Question ID : 650548112
Status : Answered
Chosen Option : 2
Marks : 1




Q.35 Tk Soit Hiex # K (Hiex fRARIR) = 1000 Tan/fheitare ©eT (revolution/kWh) glar g1 af faws

5 e # 200 Taem? et @, at St Y sigfet e ghfi?

Ans X 1.4.4kWh
X 2.1.4kWh
X 3.6.4kWh
o 4.2.4kWh
Question ID : 650548103
Status : Not Answered
Chosen Option : --
Marks : 0

Q.36 YAvEfad dhehle Tl i fawgfa siams (span length) 80 & 200 #fiex & = gl &, Fifh o
g

Ans X 1. a1 Fered
< 2. 959 & 37T I (cost efficient)
o 3. 31 moTed ofk aifdes fewhrss
5 4. 31 fearss

Question ID : 650548140
Status : Answered
Chosen Option : 2
Marks : -0.25

Q.37 chsee? Al Y ufaRtererdr W araa= 94T &1 uag aeh ZIRT T Siran 21
Ans X 1. sifqmRaera

5 2. 501 tetd (sine function)

2 3. guefed (helical)
o 4305

Question ID : 650548154
Status : Answered
Chosen Option : 4

Marks : 1
—_
Q.38 Tf¥ 20V, 30 V 3k 60 V & Gl =t siofiehn & doifoa fRrar man g}, dl s gea gl
gl
Ans X 1.30V
o 25110V
25.3.60V
X 4.20V
Question ID : 650548121
Status : Answered

Chosen Option :
Marks :

2
1




Q.39 =1 & & 9 91 A ®U § Y-Huhd uRar a1 g 78 82

Ans X 1.TT
X 2.TN
& 3.IN
X 4T
Question ID : 650548136
Status : Not Answered
Chosen Option : --
Marks : 0
Q.40 Which of the following devices protects equipment against over current and short circuit
condition automatically?
Ans 1. Fuse
5 2. Isolator
25 3. Limit switch
25 4. Switch
Question ID : 650548113
Status : Answered
Chosen Option : 1
Marks : 1
Q.41 The name of the transistor terminal is:
Ans X 1. Collect Bias Emit
" 2. Collector Base Emitter
25 3. Collect Base Emitter
< 4. Collector Bias Emitter
Question ID : 650548143
Status : Answered
Chosen Option : 2
Marks : 1
Q.42 ufaey, faega uRuy & & TG gt 8l
Ans o 1. TR (resistance)
#5 2. JaehedTdr (permeance)
25 3. u1Rdn (capacitance)
< 4.9 (inductance)
Question ID : 650548116
Status : Answered
Chosen Option : 1
Marks : 1




Q.43 19 & Aerit Ao Softerm & 2 g0 &, At ST fagga arges a1 (emf) ______ghmi
Ans X 1.14V

X 236V

o 3.2.8V

X 407V

Question ID : 650548119
Status : Answered
Chosen Option: 3
Marks : 1

Q.44 =1 & @ w9 91 dega TETafAe Iuvor 82
Ans X 1.9

X 23R
o 3.3
X 4=@

Question ID : 650548118
Status : Answered
Chosen Option : 3
Marks : 1

Q.45 Which Transformer is used for neutral earthing?
Ans & 1. Grounding transformer

#< 2. Current transformer
25 3. Auto transformer

& 4. Potential transformer

Question ID : 650548137
Status : Answered
Chosen Option : 1
Marks : 1

Q.46 The voltage level used in Conduit circuit is:
Ans  # 1. Voltage between 250 =600 v

< 2. Less thani200 v
< 3. Greaterthan 600 v
5 4. Lessthan 100 v

Question ID : 650548147
Status : Not Answered
Chosen Option : --
Marks : 0




Q.47 w9 fFRfl & siafq, 3G e fr ofeRktumar e gt 81

Ans X1 60 Q2 cm
&2 6x1000Qcm

< 3.600 22 cm
X4 6% 103 Qcm

Question ID : 650548142
Status : Not Answered
Chosen Option : --
Marks : 0
Q.48 3 TR TAfRISI dhere & YgoT AR & Y T Fer wls o1 v fvar sirar g2
Ans X 1.@
F VA
o 3.
25 4. <hrel
Question ID : 650548146
Status : Answered
Chosen Option : 4
Marks : -0.25
"
Q.49 foreft srrferrer &, 36 @ I TT HeAT-SIThA (ThoT-Hedd) TATY T&T 14T 82
Ans X 1.Y-R-B
X 2.R-Y-R
X 3.B-Y-R
& 4 R-Y-B
Question ID : 650548157
Status : Answered
Chosen Option : 4
Marks : 1
Q.50
for o gaeRToT H, p AT AT §7
1
ufata R=2
a
Ans X 1 TIciched (hsaRd)
o 2. UfcRieRar (RfRf)
75 3. TTetehar (hsfaefad)
< 4. uforty RS w)
Question ID : 650548114
Status : Answered

Chosen Option :
Marks :

2
1




Q.51 & hir e #fraret 81
Ans X 1.dfecder (Wh)

X 2. g (A)

o 3. TR €T (Ah)

X 4.4t (W)

Question ID : 650548156
Status : Answered
Chosen Option: 3
Marks : 1

Q.52 Which of the following is NOT an application of an earth wire?
Ans X 1. Protection to human body against shock

" 2. Protects electrical system from short circuit
< 3. Protect tower from lightning stroke

#5 4. Served as return conductor to traction line

Question ID.: 650548134
Status : Answered
Chosen Option : 4
Marks : -0.25

Q.53 IuihT RER & i fARIIR 15+ (overhead line) ®Y _____ gt Sirem 81
Ans o 1. 9fGE AT

X 2. e

X 3. =R

X 4. giefieR

Question ID : 650548138
Status : Answered
Chosen Option : 2
Marks : -0.25

Q.54 When the current drawn by line is greater than the current associated with the load at the
receiving end of the line, this effect is reduced by using a:

Ans X 1. series reactor
#5 2. shunt capacitor
¥ 3. shunt reacter

< 4.series capacitor

Question ID : 650548139
Status : Answered
Chosen Option : 2
Marks : -0.25




Q.55 6 0y & i uferty THiaR 39 A 93 gY &1 98 Hater 3 O & uforty & ary softa 10 v

Sgfef & effae & e o1 o &1 uRay & umr & ghfi?
Ans X 1.22A

X2111A
K 3.23A
o 4.20A
Question ID : 650548117
Status : Answered
Chosen Option : 4
Marks : 1
Section : General Knowledge and Awareness
Q.1 9T & fohw Agrdlu (Fergiul) &1 v mT &2
Ans X 1.0
o 2. T3 3R uferan
2 3. I SR iR g
< 4. ufmn
Question ID : 650548166
Status : Not Answered
Chosen Option : --
Marks : 0
Q.2 ST 2020 #, ISNT I WeATR i fohd T / dhe ™G U221 & I<TAT / 3U-ISAUTA T
TegehR g far mar 82
Ans X 1. ISTRIH
K 2. &
X 3. dgnTe
o 4. SEHRER
Question ID : 650548159
Status : Not Answered
Chosen Option : --
Marks : 0
= =
Q.3 uRdT Xoid d 7 2021-22 A t-g &l ____ R IAG @I
Ans X 1.3%
&K 2.1%
& 374%
&5 4.2%
Question ID : 650548161
Status : Not Answered

Chosen Option :
Marks :

0




Q.4 2022 q= fagy & @<t a« (A, Siorer) i Tad 3ifde @ua =7 arem 221 379 S R A1 E?

Ans X 1.SUE
X 2.d=
K 3.F9
o 4. ST oy AR (USA)

Question ID : 650548163
Status : Not Answered
Chosen Option : --
Marks : 0
Q.5 wgre mift grRr aféyor enfierr & Rafaf@a & @ wiF ot ufSe vt i 0 02
Ans o 1.3 snfufaa
< 2. SThied =gat
X 3. gRem
< 4. qashiad
Question ID : 650548162
Status : Not Answered
Chosen Option : --
Marks : 0
Q.6 anffes wderor 2021-22 & FFUR, AdaR 2021 & 3id deh, R gfAaT & g 1 fAdeh
T WSR YR ATI
Ans o 1. =T
52, uuH
X 3.
KA
Question ID : 650548160
Status : Not Answered
Chosen Option : --
Marks : 0
Q.7 R uTfor gderr (SFifoiee T4 Sifth $f3am) o1 qeaTea Fel [Ra 82
Ans X 1. UIE<RR
o 2. DIcTcEIT
X 3. &erEne
54 aES
Question ID : 650548167
Status : Not Answered

Chosen Option :
Marks :

0




Q.8 fm=fafaa d & fora woa 3 g gEwis (a9 $2399) 2021 & =grgutforenT SR Ards=es
[RetT, gafarur R AR higd e & oy wreat (u ) soft & 2fid wm= giffe frar @2
Ans o 1. TSTRIE
5 2. ST
< 3. @ e
X 4. sty T
Question ID : 650548164
Status : Not Answered
Chosen Option : --
Marks : 0
=
Q.9 fFafafEa # 4 forw wog & gegwist 7 st 2020 # YSR siRimasft gierr &1 Igre fohar §?
Ans o 1.3 TR
< 2. aetrET
< 3. pAfen
X 4. ey
Question ID : 650548158
Status : Not Answered
Chosen Option : --
Marks : 0
Q.10 =TT hY G FH uda & = @ &2
Ans X 1. 3G
K2R
< 3. RIS
o 4 TE R
Question ID : 650548165
Status : Answered
Chosen Option : 4
Marks : 1
Section : General Science
Q.1 afX 15 C & G 3TN i Gop foig & g foig wR wureiafa o+t & forg 300 J & it srasaemar
gt &, at 51 feigei wR frsraiar & mor &
Ans # 1.20V
X 2.45V
7 345V
2 4.450V
Question ID : 650548170
Status : Answered

Chosen Option :
Marks :

1
1




beings?

Ans o 1.Bile juice
< 2. Gastric juice
< 3. Saliva

25 4. Pancreatic juice

Q.2 Which of the following converts acidic food into alkaline in the digestion of food in human

Question ID : 650548174
Status : Answered
Chosen Option : 4
Marks : -0.25
Q.3 19 U avg/fis @l FuR fi 3R therr wiraT &:
Ans o 1. SR TITAS SHolt e § SR RS Fat st &1
25 2. zuen fRAfast St gedt & iRk nfast it Jedt 81
X 3. 39t i Soif & arer-ary fRAfAS it oft gedt 21
X 4. zTeh fRAfas S & ary-ary nfast et oft st 81
Question ID : 650548169
Status : Answered
Chosen Option : 3
Marks : -0.25
_———
Q.4 Uk Ve 37 3R Ueh aer &R @ fAffa weor a1 diga @ aar gim?
Ans 1.7
K 2.7 fda
X 3. 73%R
K 4.0
Question ID : 650548172
Status : Answered
Chosen Option : 1
Marks : 1
Q.5 39 srmesf {9 &1 99+ o O ey sirerd arRoft & ufed siad J w@r mar g1
Ans X 1.9
< 2. fea
X 3.
o 4.5
Question ID : 650548171
Status : Not Answered
Chosen Option : --
Marks : 0




Q.6 T @af a¥w &Y srgf 2000 Hz & 31k a¥vieed 0.35 m 81 a%71 &Y arer e hifag)
Ans  #1.700ms’

2 2.600ms’
X 3.57142ms”
X 4.575ms
Question ID : 650548168
Status : Answered
Chosen Option : 1
Marks : 1
Q.7 fFAfafae d @ o ot urg smarA aeikigs @ SR &t fawnfae 7@ wft?
Ans X 1. &=
o 2. ReR
X 3. vgfataa
X 4. fSiw
Question ID : 650548173
Status : Answered
Chosen Option : 2
Marks : 1
_
Q.8 TS I SATUTIAh T T &2
Ans X . C3H4
x 2. C4Hip
X 3. CoHs
4. C4Hg
Question ID : 650548177
Status : Answered
Chosen Option : 4
Marks : 1
Q.9 F=afafEa & @ = a1 gwi= dia= & T9g sl o Rarae & aRkad «rar &2
Ans o 1. TR
< 2. TS (Oestrogen)
X 3 Tt
X4, TSR
Question ID : 650548175
Status : Answered

Chosen Option :
Marks :

1
1




Q.10 Adrenal glands are located closest to:
Ans 1. Kidney

#5< 2. Diaphragm
25 3. Belly button
25 4. Urinary bladder

Question ID : 650548176
Status : Answered
Chosen Option : 1
Marks : 1

Section : Quantitative Aptitude

Q.1 U AURL A S 43 T70 ufel 93 &l & & a9 iR 40% 1 @14 S1fSta fhari 60% &1 sifSfa st
& forQ v 9= o fasra e o giem nfeg?

Ans X 1.378
X 2.362
X 3.384
o 4.380

Question ID : 650548180
Status : Answered
Chosen Option: 3
Marks : -0.25

Q.2 Gk agye forad aoft sriaRes sior 180° & 3ifde g1 &, weerar @2
Ans X 1. 35 g

&F 2. 3Tad Sge

25 3. AR g

< 4. STy IS

Question ID : 650548186
Status : Not Answered
Chosen Option : --
Marks : 0

Q.3 &) Tl o1 S1gUTd 6: 8 & 3R ITh .9, 3R 7.9 I UM 19200 &1 Te=arail 1 ahT J1d
HifSgl
Ans  # 1.280

2 2.270

2 3140
X4.120

Question ID : 650548183
Status : Not Answered
Chosen Option : --
Marks : 0




Q.4 ¥6,000 il Yah Y=RIFRA FILROT =TT Y &3 UR 5 gl & 29,000 I STl &1 <uret it 22 aam 82
Ans o 1. lﬂ%

1
X2 6=-%
2
X3 5%
x4 2 . %
. a4~ f0
10
Question ID : 650548187
Status : Answered
Chosen Option: 1
Marks : 1
Q.5 ¥9000 &} IR ¥R # g9 @ & fAwifSa & foh Iahr ergqura 1:2: 5 7 gt S| e v 5ra
Hifsai
Ans X 1.34,400
< 2.34,500
& 3.34,200
X 4.34750
Question ID : 650548178
Status : Answered
Chosen Option : 3
Marks : 1
_
¥ 1 FHwEHS @ BTG 183 cm? ¥ gHa ufHg Reder geme
Ans X 1. 6em
« 2 12v3 cm
X3 12cm
X 4. 6v3 em
Question ID : 650548185
Status : Not Answered
Chosen Option : --
Marks : 0
Q.7 IgE H Yeh YoTa Wi Y |91 272 m &1 Toh TR IS il wians 128 m g 3R 120
km/h H I @ It 81 39 IS ZRT WhiH i fhaw Qehs J UR R forar smem?
Ans . X' 1.10 ¥
o 2.12 9k
75 3.63%s
X 4.8Tdhs
Question ID : 650548181
Status : Answered
Chosen Option : 2

Marks :

1




Q.8 af =Tt it @ uga avf & g 10%, &R af & forg 30% &, af 6000 wR 2 a¥ & fog Tehrgfy
=TSt fohar ghm?

Ans 7 1.%2,580
< 2.32,600
2< 3.33,000
X 4.32,680

Question ID : 650548184
Status : Answered
Chosen Option : 1
Marks : 1

Q.9 In acollege, the students in three groups are in the ratio of 2 : 3 : 5. If 10 students are
increased in each group, the ratio changes to 4 : 5 : 7. The total number of students after
the increase is:

Ans X 1.5
 2.80
X 3.55
X 4.70

Question ID : 650548179
Status : Answered
Chosen Option : 2
Marks : 1

_

Q.10 P is twice as good a workman as Q and together they can finish a piece of work in 36 days.
In how many days will P finish the same work alone?

Ans X 1.27 days
«# 2. 54 days
< 3.48 days
5 4.72 days

Question ID : 650548182
Status : Answered
Chosen Option : 1
Marks : -0.25

Section : Computer Awareness

Q.1 A process said to be in state, if it was waiting for an event that will never occur.

Ans 4 1.deadlock
25 2. begin
25 3. create
< 4. end

Question ID : 650548190
Status : Answered
Chosen Option : 1
Marks : 1




Q.2 Which of the following are the three characteristics of the Big Data?

Ans X 1. Volume, Velocity and Vacancy
" 2. Volume, Variety and Velocity
25 3. Variety, Velocity and Vanish
25 4. Volume, Velocity and Vanish

Question ID : 650548191
Status : Not Answered
Chosen Option : --
Marks : 0
= =
Q.3 Fafaf@a § 9 o9 91 HU- &[T T Ja¥ 31<ST Jui Hedr 82
Ans X 1. 378 e T Rew &1
X 2. 78 ush g9 ufsfén arearr 81
< 3. 7g uss difsar ufsfdn Swmeru afeder 8|
«F 4. I8 o il Rt A9wTse ¢, S8t i difedt Ist ehe dehd 6, UHG e Uehd B 3R S TR
frmforat = g &1
Question ID : 650548188
Status : Answered
Chosen Option : 4
Marks : 1
Q.4 MS Word 2019 # fawiee <1 qedie gidt &:
Ans X 1. &fas (8TReiar)
o 2. SafeR (adfea)
X 3. feroffa (sramiee)
X 4. qrge g HEse
Question ID : 650548189
Status : Answered
Chosen Option : 1
Marks : -0.25

Q.5 F=faf@a d @ w991 U Ywehieha aiveadar agl 82

Ans  # 1. MacOS
2< 2. MysQL
< 3.Zoom
25 4. WordPad

Question ID : 650548192
Status : Answered
Chosen Option: 3
Marks : -0.25

Section : English




Q.1 Parts of the following sentence are given as options. Identify the part that has an error.

His friends accused him of been selfish.
Ans X 1.selfish.

# 2. of been
#< 3. accused him
< 4. His friends

Question ID : 650548197
Status : Answered
Chosen Option : 4
Marks : -0.25

Q.2 Select the option that expresses the given sentence in passive voice.

Who taught you Economics?
Ans X 1. Whom were you taught Economics?
" 2. By whom were you taught Economics?
< 3. By who were you taught Economics?

#< 4. By whom was you taught Economics?

Question ID : 650548195
Status : Answered
Chosen Option: 2
Marks : 1

Q.3 Select the most appropriate option to fill in the blanks.

grocery store is on right.
Ans X 1.The;a

K 2.Aa

" 3. The; the

5 4. An; the

Question ID : 650548193
Status : Answered
Chosen Option : 1
Marks : -0.25
==

Q.4 Select the most appropriate option to fill in the blanks.

| would like you to meet Ravi. is a friend of .
Ans X 1.1, mine

25 2. His;me
+" 3. He; mine
75 4. He; myself

Question ID : 650548194
Status : Answered
Chosen Option : 3
Marks : 1




Q.5 Select the option that expresses the given sentence in reported speech.

My mother said to me, “Learn to finish your work on time.”

Ans X 1. My mother asked me that learn to finish my work on time.
< 2. My mother advised me to learn to finish your work on time.
25 3. My mother asked me learn to finish my work on time.
¥ 4. My mother advised me to learn to finish my work on time.
Question ID : 650548196
Status : Not Answered
Chosen Option : --
Marks : 0
Section : Hindi
Q.1 fF=fafaa d @ o a1 21 vt 82
Ans o 1. faTT
X2 ag
X 3.9
&4 T
Question ID : 650548201
Status : Not Answered
Chosen Option : --
Marks : 0
Q.2 f=fafae d & ud aw 2reg o1 9= HifSd
Ans X 1. 7eflw
X299
X 3.am
o 4.35aA
Question ID : 650548198
Status : Not Answered
Chosen Option : --
Marks : 0
_— =
Q.3 ‘TR’ & g gd ey 2= &1 99+ fifsa
Ans o 1.S7A
X 2.9
7< 3.fEm
5 4. fagm
Question ID : 650548199
Status : Not Answered
Chosen Option : --
Marks : 0




Q.4 ‘TR R W, T A’ &1 3Ra o1 o &2 9 e a1 au= fifSd
Ans X 1. gigar ik gred 7 g R oft Sg-agd aTd T

o 2. TR T I & I TEA WR ot I8 7S @l
X 3@ AR A SIS Bl
X 4 RAFe T gH R 9 91 g

Question ID : 650548202
Status : Answered
Chosen Option: 1
Marks : -0.25
Q.5 fA=fafEa d @ ader’ 2reg & fog Ra wafaarh & aga fifsd
Ans X 1. urdare
 2.9dd
< 3. 7geE
< 4. gt
Question ID : 650548200
Status : Not Answered
Chosen Option : --
Marks : 0




